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A FB B (EN) - HRAY - BES il HImEET
OMESTMNFL (A, DD, 0= A UEKE
20,000& x50 1,000
A2ERE A7 & 2l 31,002 77,514 N46,512
101 @124 dl 13,002 24,514 A 11,512
04 DIt Z2XEES 13,002 24,514 A 11,512
OHZERS2AAAZEY 25 13,002
>llEs 44,7003 +121 126 5,633
>aNS 935,000& »22] 1,870
DEsd 44,7003 101 26 1,163
> AX =S 44,7003 x 11 62 269
> = Al 130,000& 121 x6& 780
> W Sl 120,000& =121 «6°& 720
>EXZ 1,497,000& 14 1,497
>I0HZ 10,435,000& *4 . 5% 470
DAL EE 10,435,000& *2.995% 313
DEINRAEH 313,000& *6.55% 21
PONEEE 10,435,000% *1.50% 157
DATHE S 10,435,000& =1.039% 109
201 Yete | 8,000 9,000 A1,000
01 At 22l 8,000 9,000 A 1,000
O1 get==2Hl 8,000
PARREAS(EESH . ESH)
4,000,000& 12 4,000
>Deaae AHMTs 2 1,000& =1,0000H 1,000
PREZLEN s 72l 23 7
3,000& *1,0000H 3,000
206 T 2 bl 10,000 26,000 A16,000
01 =8l 10,000 26,000 A 16,000
BEEXMelME 10,000, 000& 14! 10,000
HdEEEs Jlal =l 54,180 56,680 A 2,500
JI2l Al JHE 32,500 35,500 A 3,000
201 Yete | 32,500 35,500 ~3,000
01 At 22l 31,500 32,500 A 1,000
O1 get==&Hl 31,000
DOIEd &8 MA 10,000, 000& 23] 20,000
DII2IEAl 2 EEH JHE 4,000,000 23! 8,000
DEAH, ZFFE, &2 S WA
1,500,000& »23] 3,000
06 dxt= 500
PUHHRE 225 U X2 500,000 13 500
02 =224l 1,000 3,000 A2,000
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ool dS23 ds & E= EERE=E))
A - ER(EN) - AR - B of & o4 SSa HIDZ2
301 gEtE A= 1,500 1,500 0
09 BAMAHIESS 1,500 1,500 0
Oelzsr 2a 2A 6dHIE 4 100,000 153 1,500
=R AE 2F 50,000 0 50,000
307 212t0 & 50,000 0 50,000
02 QB AAMNHE X 50,000 0 50,000
O FXAA JIZAEY 50,000,000& »14] 50,000
ANE & 232el 297,744 262,041 35,703
A2 FA2E 2 268,524 233,421 35,103
226,524 85,221 141,303
ull 12,130 12,130 0
gt~ EHl 12,130
DIAN2E +=EH 200,000& =123 2,400
DM (2SI S=0) 5,000& *1002! »2CH 1,000
D20 2teldl 25,0003 4 x43] 400
DatEa 2tel HEH 10,0003 *»4CH 122 480
DStEA 2o StEI(2HHS)
50,000& 122 600
Do 2e| HLAES 48,000 x83 384
DAEI| e HeES 350,000 =122 4,200
D s ZIIZAM 200,000& »13| 200
D&ZIl XM ZACHY  120,0003 «10H« 123 1,440
DS AIDbA EE H AL 150,000& * 13| 150
DIOtAAIZ M 22| T WESSHI
100,000& »1¢! 100
> MY IS E (1002 ) 2, 1503 »20& 128 516
D> XY IISE (504 ) 1,080& *20& <122 260
02 S3=29Hl 214,394 73,091 141,303
o1 3323 % MA 27,780
PEIIR= 2,200,000 «12& 26,400
Daote=EE 80,000& x12& 960
D Aagtot &g 3l 100,000& =13l 100
DEINERES 150,000& 23| 300
DILAAMD BHaMBEES 20,0003 * 12 20
O2 ¢l 25,902
Puel 2222
1,085& %13.2m x8A| 2+ »722 +0.75 6,188
Db D] 2 4=0] (140RT)
1,085& #31.2m x8A| 2k »722 +0.75 14,625
D eI 2] (140RT)
7163 %28.2m *8A| 2+ #4222 +0.75 5,089
O3 A€ &Hl =Albl 160,712
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Sl AlE 2 2R (S &2)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
DX HA 10,0003 *76 E *23] 1,520
DYt A= 403 *3,196 M %53 640
DESGX AS 18& %32,0004 576
DWRASL|IE Al2H(140RT)
22,0002 = 140RT=1CH 3,080
DHR2ELIE M (40RT) 22,0002 x40RT*1CH 880
ISR IA(BEZR, SEAHl, Wug)| 2
146 5,000, 000& » 14! 5,000
>ASHOH &bl 300, 000& *2JH &~ 600
Dati™EE & MIAA 1,500, 000& 14 1,500
DAWSIESEHZA 800,000& 14! 800
Dt g9 L 2yl 3,300, 0003 *14] 3,300
> &I J10F 2=&H| 1,600,000& «1CH 1,600
DEAFAEY 3,220,000& x201 x12& 77,280
D ROAFAHESY 2,664,000 x201 x12& 63,936
206 M = Hl 7,000 10,200 A 3,200
01 24l 7,000 10,200 A 3,200
OFIISE(ZOHOIZ )  1,000,0002 *14! 1,000
OB AHME 1,000,000& 14! 1,000
O ALl Y OI==A DB 100, 000& *302H 3,000
O23ZXJ| WHIRYt=TEH 2)
2,000,000 14!l 2,000
401 AIEHIL 20| 35,000 30,000 5,000
01 Al bl 35,000 30,000 5,000
O=s4a g A 20,000,000& =14 20,000
O&EIIAAE KAl2eltl 5,000,000 » 14! 5,000
OJIHANE X2l 5,000,000& *14] 5,000
Od= A2l 5,000, 000& » 14l 5,000
g2 S22 29,220 28,620 600
201 et A | 29,220 24,620 4,600
01 AtR 22l bl 15,000 12,000 3,000
O1 2Btx=2H| 15,000
PIIES(THiHE) 3,000& *10& *504 1,500
>eElg JI8EE 25,000& = 10004 2,500
etz =s8AE M 2,000& *5,0000H 10,000
pelsa A% Y 23 HE
2,000& *500H 1,000
02 352494l 14,220 12,620 1,600
O1 222=2 % HA 4,300
DetEaa 22 THOl BHAZ2H IO
400,000& *13l 400
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Sl AlE 2 2R (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
DoitiasHa 92 HaEE s
200,000& *13] 200
DRERS 150,000& *12& 1,800
> SAAF. Ol = A &3 H| 60,000& *15JH & 3 900
>agetS 28 gl 1,000,000& x13] 1,000
O3 AIE&Hl |AXl4] 9,920
>etE2t EH 0| X 22| 160,000& = 12& 1,920
D> &EAIA AlA S X HI| 8,000,000& »14] 8,000
232ZF 29 176,461 171,447 5,014
S3 2=z 176,461 171,447 5,014
2A2A B=a 144,276 120,277 23,999
101 @121l 19,769 20,785 N 1,016
04 JI2ZtH 22 XNEE S 19,769 20,785 A 1,016
OZd25sn 29 19,769
Dol 44 700 121 %208 9,298
> a2 9,297,600 /10& x4 3] 3,720
>EFLE 44 700& x44L 1,967
>AIRSFEI 44 700& *10& 447
>y HZAH| 130,000& 10 1,300
DS 2 x| 120,000& *10& 1,200
>=0dZ2 17,932,000 x4 .5% 807
DAABES 17,932, 000& *2.995% 538
DEIINJSLEEH 538,000& *6.55% 36
PNEYE = 17,932,000 *x1.5% 269
DAMEE S 17,932, 000& *1.039% 187
201 Bt 115,007 33,842 81,165
01 At 22l bl 16,958 17,158 A 200
O1 2Bt4=2H| 16,958
DRERSsZ 400, 0003 *14] 400
DHHA ZEIHI S A28 7Y
100,000& x12& 1,200
DA (BH=)7Q 5,000 x150= 750
DotEA FAESS 60,000& x12& 720
DMYIISSHSE (500 )
1,080 x10& x12& 130
DMAYIZSZHMEE (1002 )
2,150& *10& ~12& 258
DALY =& 2EX M
1,500& x9,000& 13,500
02 352494l 98,049 16,684 81,365
O1 2222 < HMHA 10,902
>DEIRB 600,000& x12& 7,200
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MO oY JQ

Arere 2
QA2 2o
22y 24
S 2EE 2]

DA HB B (EH) - MBAY - BAS o A o SSa H RS2
DAMSIERS 100,000& = 12& 1,200
DTVAIE = 11,0003 x12& 132
DOIHYAEZ 30,000& x23| & x12& 720
DAESE HA 20& x25,0004 500
>&EI otM HII&E A 100, 000& x 13 100
DYt A S 170,000& 53] 850
DY A2 K2 BE2 200,000& *13] 200
02 dZH| 739
D &HEAIR A 1,282& *8A| 2tx72L 739
O3 A& &8I X bl 86,408
>CCTV, &ed 2AIEX =2yl
1,000,000 * 14 1,000
DEE B8 I 500, 000& *14] 500
>PAE FSX WA 3,000, 0002 * 14 3,000
DS L XTHAA Xl Hl 500, 000& *14] 500
DRoduled 3,392, 000& x201 x12& 81,408
401 AIEHIL 20| 6,000 8,200 N2,200
01 Al BI 6,000 8,200 N 2,200
O2M AlE X2+ 6,000, 000& * 14 6,000
405 XHoHF SHI 3,500 4,650 A 1,150
01 It = S F SHI 3,000 4,150 A 1,150
O (A 10H) 1,500, 000& *2CH 3,000
02 & A7 500 500 0
OZdAZd TA 7Y 20,000& x25H 500
2AL2A25 5N 29 32,185 51,170 A 18,985
201 LEt2 Y| 27,485 38,470 A 10,985
01 At 22l Yl 26,985 37,870 A 10,885
O1 etx=2H| 10,625
DMHEH & A2F 2 15,000& x258 x73] 2,625
>EE M 2,000& *5000H 1,000
D& 40 M 100, 000-& =20 0H 2,000
DARAAIEZSS L M HE
5,000, 000& x 14 5,000
O3 2g=Y 15,360
>Egtstn ZAIeE 110,000& *72& x23] 1,540
DE3tatn BEXWAF =5 80,0003 %821 x23] 1,280
DEAITHE 2AF & WAF =&
110,000& x5 3[+80,000& x521x23] 1,900
DS AHO ZA 190,000 & *401 x4 3] 3,040
>2ZIAHO ZAH 380,000& 521 x43] 7,600
O6 itz 1,000
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